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1. Match the dashed line in each diagram with its corre%pondinq term.
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3. Consider triangle ABC shown on the right.
a) Which side of the triangle has the greatest length?
How do you know?

b) Which side of the triangle is the shortest? How do
you know?
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4. Consider triangle DEF shown on the right. F

a) At which vertex is the greatest interior angle? How do
you know? 10.8 cm

b) At which vertex is the smallest interior angle? How do 12.5 cm
you know?

11.7 cm E
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5. Determine the value of x.
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8. The runways at an airport form an acute triangle (all angles are less than 90°). A wind direction
indicator is to be installed within the triangle such that its distance from each vertex is the

same. Describe how knowledge of triangle properties could be helpful in locating the point
where the wind direction indicator should be installed.
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12. Determine the value of x.

a)

|ASCr i bad crg’ﬁ
clre ecyv\oJ
= =S

f)

S

Cenlval angle is
double He O\(\SDIQ on
'H'\Q AY=Jea GrC
- x = 2(31)
x = £2°




6.4 Triangle and Circle Geometry - Use2.notebook April 11, 2024

13. Determine the value of x.
a. .
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